2.10  Slopes and Equations of Lines:  Special Cases
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Case 1:  Parallel Lines 

· the 2 equations have the same slope (m) but different y-intercepts (b)

Case 2:  Perpendicular Lines 

· the 2 equations have negative reciprocal slopes (m1 = -3, m2 = 1/3) and the y-intercepts (b) are not critical

Case 3:  Horizontal Lines 

· the y-coordinate is constant

· therefore the equation is y = b why because m = 0 therefore y = 0x + b

     but in simplied form its y = b (the constant y-coordinate)

Case 4:  Vertical Lines 

· the x-coordinate is constant

· therefore the equation is x = the constant x-coordinate

